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Scan for carried-over hits

® 4 settings X 2 times each



https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068007/index.html
https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068008/index.html
https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068009/index.html
https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068010/index.html
https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068012/index.html
https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068013/index.html
https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068014/index.html
https://sphenix-intra.sdcc.bnl.gov/WWW/subsystem/intt/commissioning_plots/2025/00068015/index.html

Condition 4

® Up to 1M events processed.

The number of events which passed filters in the analysis were less than 1M events (~750k) for
most of the runs.



Raw Hit Inner/Outer Correlation

® No fishbone-like structure in all
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h2D_NinttHitinner_NinttHitOuter(run 68014, n_collision 3, open time 127)
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Check (BCO diff plots)

® Atleastn co
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llision is set as we intended to.
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Comparison with physics run this year

® The distribution in run 68007 is broader than the earlier runs.

® The broad base cover over carried-over hits?
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Next step

® Count number of carried-over hits by checking raw data.
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